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001. MktÞwõík hk»xÙ «kYÃk ðøkeofhý yLkwMkkh ¼khík{kt çkkuõMkkExLkku ¼tzkh MkkiÚke ðÄw fÞk hkßÞ{kt Au ?

(A) yktÄú«Ëuþ (B) ykurzþk

(C) økwshkík (D) Íkh¾tz

002. ËuþLkk ðuÃkkhLke fw÷ {kºkkLkk .......... xfk yLku ®f{íkLke árüyu .......... xfk ðuÃkkh Mk{wÿ {køkoÚke ÚkkÞ Au ?
(A) 95, 68 (B) 85, 65
(C) 90, 68 (D) 80, 75

003. Mðíktºk ¼khík{kt Ãkqðo rfLkkhk Ãkh çkLkkððk{kt ykðu÷ Ãknu÷wt {wÏÞ çktËh Lke[uLkk{ktÚke fÞwt níkwt ?

(A) rðþk¾kÃkèLk{ (B) [uLLkE

(C) ÃkkhkËeÃk (D) fk{hkòh (yuLLkkih)

004. Ëuþ{kt {kuxe yLku {æÞ{ ®Mk[kE ÞkusLkkykuLku furLÿÞ MknkÞíkk ykÃkðkLkk nuíkwMkh íðrhík ®Mk[kE ÷k¼ fkÞo¢{Lke
þYykík fÞk ð»ko{kt fhðk{kt ykðe níke ?
(A) 1974-75 (B) 1999-2000
(C) 1995-96 (D) 1996-97

005. ykhMkÃknký yLku õðkxoÍkEx fÞk «fkhLkk ¾zfkuLkkt W¥k{ WËknhýku Au ?

(A) YÃkktíkrhík ¾zfku (B) ykøLkuÞ ¾zfku

(C) «Míkh ¾zfku (D) WÃkh Ãkife yuf Ãký Lknª

006. LkËeykuLkk rðMkÃkoýLku fkhýu fuðk Mkhkuðhku h[kÞ Au ?

(A) ÷tçkøkku¤ (B) [kuhMk

(C) ½kuzkLke Lkk¤ suðk (D) ÷økqLk

007. fE Ã÷uxLkk xfhkð Úkfe xuÚkeMk Mk{wÿ{ktÚke rn{k÷Þ Ãkðoík©uýeLkwt rLk{koý ÚkÞwt níkwt ?

(A) ELzku ykuMxÙur÷ÞLk Ã÷ux yLku ykr£fLk Ã÷ux (B) ELzku-ykuMxÙur÷ÞLk Ã÷ux yLku ÞwhurþÞLk Ã÷ux

(C) ELzku ykuMxÙur÷ÞLk Ã÷ux yLku ÃkuMkurVf Ã÷ux (D) ÞwhurþÞLk Ã÷ux yLku ykr£fLk Ã÷ux

008. Lke[uLkk{ktÚke fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. ytçkk÷k þnuh øktøkk yLku ®MkÄw LkËe ðå[u s¤rð¼ksfLkwt fk{ fhu Au.

2. çkúñÃkwºkk LkËe ¼khíkLkk ykMkk{ «Ëuþ{kt «ðuþu Au.

3. þkuý LkËe Þ{wLkk LkËeLku {¤u Au.

(A) 1 yLku 2 (B) 1, 2 yLku 3

(C) {kºk 2 (D) {kºk 1

009. ¼khík MkhfkhLke rËÕne ¾kíku ykðu÷e nðk{kLk f[uheyu ¼khíkLke ykçkkunðkLkk MktË¼o{kt Mk{økú ð»koLke [kh Éíkwyku{kt
ðnU[ýe fhe Au, su{kt rLkðíkoLk Éíkw{kt Lke[uLkk{ktÚke fÞk {rnLkkLkku Mk{kðuþ ÚkkÞ Au ?

(A) ykuõxkuçkh yLku LkðuBçkh (B) LkðuBçkh yLku rzMkuBçkh

(C) MkÃxuBçkh yLku ykuõxkuçkh (D) rzMkuBçkh yLku òLÞwykhe

010. ¼khíkLku fw÷ fux÷k «kýe-¼kiøkkur÷f «Ëuþku{kt ðnU[ðk{kt ykÔÞku Au ?

(A) Ãkkt[ (B) A

(C) Lkð (D) ykX
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011. ¼khík{kt W»ý frxçktÄeÞ ðhMkkËe støk÷ku õÞkt òuðk {¤u Au ?

1. Ãkrù{ ½kxLkk ðÄw ð»kko ðk¤k rðMíkkhku{kt

2. ÷ûkîeÃk

3. yktËk{kLk - rLkfkuçkkh

4. ykMkk{Lkk WÃkhe rðMíkkhku{kt

5. íkkr{÷LkkzwLkk íkxeÞ «Ëuþku{kt

(A) 1, 3 yLku 4 (B) 1 yLku 5

(C) 1, 2, 4 yLku 5 (D) 1, 3, 4 yLku 5

012. økwshkík{kt nuLz÷q{ WãkuøkkuLkk rðfkMk {kxu Lke[uLkk{ktÚke fkuLke MÚkkÃkLkk fhðk{kt ykðu÷ Au ?

(A) økwshkík ÷½w Wãkuøk rLkøk{ (B) økwshkík hkßÞ LkkýkfeÞ rLkøk{

(C) økwshkík ykiãkurøkf rðfkMk rLkøk{ (D) økwshkík hkßÞ nkÚkþk¤ rðfkMk fkuÃkkuohuþLk

013. fku®høkk ðLÞSð yÇÞkhÛÞ ytøku Lke[uLkk{ktÚke fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

(A) yk yÇÞkhÛÞ økkuËkðhe yLku f]»ýk LkËeLkk Mktøk{Úke LkSf ykðu÷wt Au.

(B) nkuÃk ykE÷uLz fku®høkk yÇÞkhÛÞLkku yuf ¼køk Au.

(C) íku ykMkk{ hkßÞ{kt ykðu÷ ¼khíkLkwt çkeò LktçkhLkwt {Uøkúkuð ðLk ûkuºk Au.

(D) WÃkhkuõík ík{k{

014. MkkrníÞ yfkË{e ytøku Lke[uLkk rðÄkLk / rðÄkLkku Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ? íkuLkku ÞkuøÞ rðfÕÃk
ÃkMktË fhku.

1. íkuLke MÚkkÃkLkk MðkÞík MktMÚkkLkk YÃk{kt {k[o,1954{kt ÚkE níke.

2. yfkË{e «ríkð»ko {kLÞíkk «kÃík AÔðeMk ¼k»kkykuLke MkkrnÂíÞf f]ríkyku {kxu ÃkwhMfkh ykÃku Au.

3. MktMf]ík{kt A {krMkf Ãkrºkfk “MktÞwõík «rík{k” «fkrþík fhu Au.

(A) 1 yLku 3 (B) 1 yLku 2

(C) 2 yLku 3 (D) 1, 2 yLku 3

015. ¼khík htøk {nkuíMkð yLku s~™-yu-çk[ÃkLk íkÚkk çkk÷Mktøk{Lkwt rLkÞr{ík YÃku Lke[uLkk{ktÚke fkuý ykÞkusLk fhu Au ?

(A) Mktøkeík Lkkxf yfkË{e (B) hk»xÙeÞ Lkkxâ rðãk÷Þ

(C) ÷r÷íkf÷k yfkË{e (D) WÃkhkuõík Ãkife yuf Ãký Lknª

016. ¼khík MkhfkhLkk MktMf]rík {tºkk÷ÞLkk «þkMkrLkf rLkÞtºkýLku ykrÄLk MðkÞík MktøkXLkLkk YÃk{kt fkÞohík “MkktMf]ríkf Mºkkuík
yLku «rþûký fuLÿ”Lke MÚkkÃkLkk Lke[uLkk{ktÚke fkuýu fhe níke ?

(A) ©e{íke f{÷kËuðe [èkuÃkkæÞkÞ (B) zkp. frÃk÷k ðkíMÞkÞLk

(C) (A) íkÚkk (B) çktLku (D) WÃkhkuõík Ãkife yuf Ãký Lknª

017. ¼khíkeÞ {kLkð rð¿kkLk MkðuoûkýLkwt {wÏÞk÷Þ õÞkt ykðu÷ Au ?

(A) LkkøkÃkwh (B) {iMkwh

(C) ËunhkËqLk (D) fku÷f¥kk

018. çkkiØ Ä{oLku MktçktrÄík Ãkeík÷¾kuhk økwVkyku fÞk hkßÞ{kt ykðu÷ Au ?

(A) {æÞ«Ëuþ (B) {nkhk»xÙ

(C) rçknkh (D) Íkh¾tz
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019. [k÷wõÞfk¤Lke {qŠíkf¤kLkk «{w¾ fuLÿku / fuLÿ Lke[uLkk Ãkife fÞk Au ?

(A) çkkËk{e (B) yinku÷

(C) {nkfqx (D) WÃkhkuõík ík{k{

020. f÷{fkhe r[ºkf÷kLkk MktË¼o{kt Lke[uLkk rðÄkLk / rðÄkLkku Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. yk r[ºkf÷k yktÄú«Ëuþ{kt «[r÷ík Au.

2. yk r[ºkf÷k MkwíkhkW fÃkzk Ãkh htøkeLk ç÷kufÚke AkÃkeLku çkLkkððk{kt ykðu Au.

3. íku{kt þkf¼kSLkk htøkkuÚke ÄkŠ{f r[ºkku çkLkkððk{kt ykðu Au.

4. ¼khík{kt yk r[ºkf÷kLkk {wÏÞíðu çku YÃk rðfrMkík ÚkÞk Au.

(A) 1 yLku 2 (B) 1 yLku 4

(C) 1, 2 yLku 3 (D) 1, 2 yLku 4

021. MkºkeÞk Lk]íÞLku Mktøkeík Lkkxf yfkË{e îkhk fÞk ð»ko{kt þkMºkeÞ Lk]íÞLke ÞkËe{kt Mkk{u÷ fhðk{kt ykðu÷ Au ?

(A) E.Mk. 2000 (B) E.Mk. 2005

(C) E.Mk. 2001 (D) E.Mk. 1998

022. «rMkØ fíÚkf f÷kfkh Ãktrzík ÷åAq {nkhks fÞk ½hkLkkLkk níkk ?

(A) sÞÃkwh (B) çkLkkhMk

(C) ÷¾Lkki (D) hkÞøkZ

023. “Lkkhe” ÷kufLk]íÞ fÞk hkßÞLkwt Au ?

(A) W¥kh «Ëuþ (B) rn{k[÷ «Ëuþ

(C) A¥keMkøkZ (D) Íkh¾tz

024. fE Mktrníkk {kxu þíkÃkÚk yLku íkiíkrhÞ çkúkñýøkútÚkku Au ?

(A) ÞswðuoË Mktrníkk (B) ÉøkðuË Mktrníkk

(C) Mkk{ðuË Mktrníkk (D) yÚkðoðuË Mktrníkk

025. Ãktrzík rMkÞkhk{ ríkðkhe rnLËwMíkkLke þkMºkeÞ MktøkeíkLke fE þi÷eLkk «{w¾ økkÞf níkk ?

(A) ¾Þk÷ (B) ÄúwÃkË

(C) íkhkLkk (D) Xw{he

026. LktËðtþLke MÚkkÃkLkk fkuýu fhe níke ?

(A) ÄLkLktË (B) ®çkrçkMkkh

(C) rþþwLkkøk (D) ÃkÈLkk¼

027. íkktçkw økk¤ðkLke ¼êe Lke[uLkk{ktÚke fÞk MÚk¤uÚke {¤e ykðu÷k yðþu»kku{ktÚke {¤u÷ Au ?

(A) Äku¤kðehk (B) fk÷eçktøkLk

(C) ÷kuÚk÷ (D) nzÃÃkk

028. Ãkw÷fuþe çkeòLku ÞwØ{kt Ãkhkrsík fheLku íkuLkk WÃk÷ûÞ{kt Lke[uLkk{ktÚke fkuýu ðkíkkÃkefkUzLke WÃkkrÄ Äkhý fhe níke ?

(A) ®Mkn rð»ýw (B) {nuLÿð{oLk «Úk{

(C) Lkh®Mknð{oLk «Úk{ (D) Lkh®Mknð{oLk rîíkeÞ
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029. økwshkík{kt fÞk MÚk¤u ÞkuòÞu÷ fkWÂLMk÷{kt siLk økútÚkkuLku ÷ur¾ík{kt {qfðk{kt ykÔÞk níkk ?

(A) Ãkkr÷íkkýk (B) ðÕ÷¼e

(C) Ãkkxý (D) rMkØÃkwh

030. økwÃíkkuLke Mk¥kkðkh ¼k»kk fE níke ?

(A) MktMf]ík (B) {køkÄe

(C) Ãkk÷e (D) rnLËe

031. Lke[uLkk òuzfkt òuzeLku ÞkuøÞ rðfÕÃk ÃkMktË fhku.
a. fwíkwçkþkne i.   ðhkz
b. ykrË÷þkne ii.  çkeòÃkwh
c. E{kËþkne iii. rçkzh
d. çkheËþkne iv.  økku÷fkuLzk

(A) a - iv, b - ii, c - iii, d - i (B) a - ii, b - iv, c - iii, d - i
(C) a - iv, b - ii, c - i, d - iii (D) a - ii, b - iv, c - i, d - iii

032. Lke[uLkk{ktÚke fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. “yürËøøks” yu ykX «ÏÞkík íku÷wøkw frðykuLkwt swÚk níkwt, suyku nrhnh-çkeòLkk ËhçkkhLku þku¼kðíkk níkk.

2. rðsÞLkøkh Mkk{úkßÞLke 15{e MkËe{kt rðËuþe {wMkkVh Ìkw-yuLk-íMktøku {w÷kfkík ÷eÄe níke.

(A) {kºk 1 (B) {kºk 2

(C) 1 yLku 2 çktLku Mkk[kt Au. (D) çktLku{ktÚke yuf Ãký Mkk[kt Lknª

033. yfçkh îkhk òuzkðkLkk ÞkuøÞ ¢{{kt Lke[uLkk hkßÞkuLke Mkqr[ çkLkkðku.

1. rçknkh        2. ykurhMMkk        3. økwshkík        4. çktøkk¤
(A) 3, 1, 4, 2 (B) 3, 1, 2, 4
(C) 1, 3, 4, 2 (D) 1, 3, 2, 4

034. E.Mk. 1206Úke 1526 ËhBÞkLk rËÕne{kt fw÷ fux÷k ðtþLkk þkMkfkuyu þkMkLk fÞwO níkwt ?

(A) Mkkík (B) A

(C) Ãkkt[ (D) WÃkhkuõík Ãkife yuf Ãký Lknª

035. .......... yu ¼khík MkkÚku ÔÞkÃkkrhf òuzkýku {kxu MkeÄk Mk{wÿ {køkkuo þkuÄLkkhk Mkki «Úk{ níkk.

(A) ÃkkuxwoøkeÍku (B) z[

(C) ytøkúuòu (D) WÃkhkuõík Ãkife yuf Ãký Lknª

036. ¼khíkeÞ ykÞkusLkLkk {q¤ WÆuþku Au.

1. ykŠÚkf rðfkMk        2. ykí{rLk¼ohíkk        3. hkusøkkhLkwt MksoLk        4. ðMíke ð]rØ

(A) 1, 2 yLku 4 (B) 2 yLku 3

(C) 1, 3 yLku 4 (D) 1, 2 yLku 3

037. ¼khíkeÞ hk»xÙeÞ fkUøkúuMkLke MÚkkÃkLkk Mk{Þu økðLkoh sLkh÷ fkuý níkwt ?

(A) ÷kuzo rhÃkLk (B) ÷kuzo zVheLk

(C) ÷kuzo ÷uLMkzkWLk (D) ÷kuzo yuÂÕøkLk çkeòu

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



AWU - GS - MASTER ] 5 P.T.O.

038. Lkð{e Ãkt[ð»keoÞ ÞkusLkk{kt ¼kh {qfðk{kt ykÔÞku níkku –

(A) Mkðo {kxu rþûký (B) økúk{eý çkuhkusøkkhe Ëqh fhðe

(C) Mkk{krsf LÞkÞ yLku Mk{kLkíkk MkkÚku ð]rØ (D) rðfuLÿefhý

039. {wÏÞ ûkuºk{kt þk{u÷ Au –

1. fku÷Mkku        2. ðes¤e (power)        3. ÃkuxÙkur÷Þ{        4. Mkkçkw yLku zexhsLx

(A) 1 yLku 2 (B) 1, 2 yLku 3

(C) 1 (D) 2 yLku 3

040. þhkVkuLke økríkrðrÄykuLkwt rLkÞtºký fkuý fhu Au ?

(A) ÷ez çkUfku (B) «kËurþf økúkBÞ çkUfku

(C) rhÍðo çkUf ykuV EÂLzÞk (D) WÃkhkuõík Ãkife yuf Ãký Lknª

041. çkÄk fhku .......... nuX¤ ykðu Au.

(A) {nuMkq÷e ykðfku (B) {qze ykðfku

(C) (A) yLku (B) çktLku (D) ònuh Ëuðwt

042. ònuh fkÞkuo{kt hkufký .......... íkhefu yku¤¾kÞ Au.

(A) {nuMkq÷e ¾[o (B) {qze ¾[o

(C) [k÷w ¾[o (D) (A) yÚkðk (B) çktLku{ktÚke yuf

043. Lke[uLkk{ktÚke fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. ¼khíkLke rLkfkMk çku økýe fhðk {kxuLkk Mkw[Lkku fhðk {kxu yÚkoþkMºke MkwhSík ¼Õ÷kLkk Lkuík]íð{kt yuf Wå[MíkheÞ
Mkr{ríkLke h[Lkk fhðk{kt ykðu÷.

2. yk Mkr{ríkyu íku{Lke ¼÷k{ý{kt ‘yu÷eVLx çkkuLzÍ’ òhe fhðkLke ¼÷k{ý fhu÷ Au.

(A) {kºk 1 (B) {kºk 2

(C) 1 yLku 2 (D) 1 yLku 2 {ktÚke yufuÞ Lknª

044. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku fÞwt / fÞk rðÄkLk / rðÄkLkku ¾kuxwt / ¾kuxkt Au íkuLkku rðfÕÃk ÃkMktË fhku.

1. fkuÃkkuohux çkkuLz ¾kLkøke yLku ònuh çktLku rLkøk{ku îkhk òhe fhðk{kt ykðu Au.

2. fkuÃkkuohux çkkuLz{kt E~Þw fhLkkhe ftÃkLkeLkk {kr÷feLkk rník þk{u÷ nkuíkk LkÚke.

(A) {kºk 2 (B) {kºk 1

(C) 1 íkÚkk 2 çktLku (D) 1 fu 2 {ktÚke yufuÞ Lknª

045. {rn÷k rfMkkLk Mkþõíkefhý ÃkrhÞkusLkkLkk MktË¼o{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku, fÞwt / fÞkt rðÄkLk / rðÄkLkku
Mkk[wt / Mkk[kt Au íkuLkku rðfÕÃk ÃkMktË fhku.

1. yk ÞkusLkkLke þYykík økúk{eý rðfkMk {tºkk÷Þ îkhk ð»ko 2021{kt ÚkE Au.

2. íkuLkku {wÏÞ WÆuþ f]r»k{kt {rn÷kykuLke ¼køkeËkhe ðÄkhðkLkku Au.

3. íku rËLkËÞk÷ ytíÞkuËÞ ÞkusLkkLkku WÃk-¼køkLkk YÃk{kt Au.

(A) 1 yLku 2 (B) 1, 2 yLku 3

(C) 1 yLku 3 (D) 2 yLku 3
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046. ftÃkLke yuõx, 2013 yLkwMkkh ¾kLkøke ftÃkLke{kt ykuAk{kt ykuAk fux÷k MkÇÞku yLku ðÄw{kt ðÄw fux÷k MkÇÞkuLke òuøkðkE Au ?
(A) 5, 200 (B) 2, 100
(C) 2, 200 (D) 5, 100

047. MkwfLÞk Mk{]rØ ÞkusLkkLkk MktË¼o{kt Lke[uLkk rðÄkLkku Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
1. íkuLke þYykík ð»ko 2016{kt ÚkE níke.
2. yk ÞkusLkk ytíkøkoík fkÞËuMkhLkk / LkiMkŠøkf ðk÷e fLÞk çkk¤f {kxu íkuLkk sL{Úke A ð»ko MkwÄeLke ô{h MkwÄe{kt ¾kíkwt

¾ku÷kðe þfu Au.
(A) {kºk 1 (B) {kºk 2
(C) 1 yLku 2 çktLku (D) çktLku{ktÚke yufuÞ Mkk[kt LkÚke.

048. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku, fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au íkuLkku rðfÕÃk ÃkMktË fhku.
1. «íÞûk fhLke [qfðýe çkkËLke ÔÞÂõíkLke ykðfLku rLkfk÷òuøk ykðf (Disposable Income) fnu Au.
2. fkuEÃký yÚkoÔÞðMÚkk{kt yuf ð»ko ËhBÞkLk WíÃkkrËík ytrík{ ðMíkwyku yLku MkuðkykuLkk {qÕÞkuLkk Mkhðk¤kLku hk»xÙeÞ

ykðf fnuðkÞ Au.
(A) 1 yLku 2 (B) {kºk 1
(C) {kºk 2 (D) çku{ktÚke yufuÞ Lknª

049. ¼khíkLkk MktrðÄkLkLkk Lke[uLkk{ktÚke fÞk ¼køk{kt LÞkÞíktºkLku fkhkuçkkhe íktºkÚke y÷øk fhðk hkßÞ Ãkøk÷kt ¼hþu íkuðe
òuøkðkE Au ?
(A) {q¤¼qík yrÄfkh (B) yk{w¾
(C) hkßÞLkeríkLkk {køkoËþof rMkØktíkku (D) Mkkík{e yLkwMkqr[

050. Lke[uLkk{ktÚke fÞwt ¼khíkLkk MktrðÄkLkLkk yk{w¾Úke MÃküheíku W¼he ykðu Au ?
1. ßÞkhu çktÄkhý ½zðk{kt ykÔÞwt níkwt.
2. ykËþkuo fu su «kÃík fhe þfkÞ Au.
3. MkhfkhLke ÃkØrík
4. Mk¥kk Mºkkuík
(A) 1, 2 yLku 4 (B) 1 yLku 4
(C) 1, 2 yLku 3 (D) 1, 3 yLku 4

051. MktrðÄkLkef MkwÄkhkyku îkhk hkßÞLkeríkLkk {køkoËþof rMkØktíkku{kt Lke[uLkk{kt þwt W{uhðk{kt ykðu÷ Au ?
1. fk{Lkku yrÄfkh
2. WãkuøkkuLkk ðneðx{kt fk{ËkhkuLke ¼køkeËkhe
3. ÃkÞkoðhýLkwt síkLk íkÚkk MkwÄkhýk yLku støk÷e ÃkþwÃkûkeykuLkwt hûký
4. MºkeykuLkk økkihðLku yÃk{krLkík fhu yuðk ÔÞðnkhku íÞsðk
(A) 2 yLku 3 (B) 1 yLku 3
(C) 1, 2 yLku 3 (D) 2, 3 yLku 4

052. ¼khíkLkk {wÏÞ LÞkÞ{qŠík fkuEÃký Mk{Þu fkuLke Ãkqðo Mkt{rík ÷ELku Wå[ík{ LÞkÞk÷ÞLkk yÚkðk Vuzh÷ LÞkÞk÷ÞLkk
LÞkÞÄeþLkku nkuÆku ÄhkÔÞku nkuÞ íkuðe ÔÞÂõíkLku Wå[ík{ LÞkÞk÷ÞLkk LÞkÞÄeþ íkhefu çkuMkðkLke yLku fkÞo fhðkLke rðLktíke
fhe þfu Au ?
(A) ðzk«ÄkLkLke (B) fku÷uSÞ{Lke
(C) hk»xÙÃkríkLke (D) fkÞËk {tºkeLke
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053. Lke[uLkk{ktÚke fÞk {q¤¼qík yrÄfkh ¼khíkeÞ Lkkøkrhfku {kxu WÃk÷çÄ Au, Ãkhtíkw rðËuþeyku {kxu Lknª ?
1. fkÞËk Mk{ûk Mk{kLkíkk
2. ðkýe yLku yr¼ÔÞÂõíkLke Mðíktºkíkk
3. ÷½w{ríkykuLku íku{Lke ¼k»kk yLku MktMfkh ÄhkððkLkku yrÄfkh
4. SðLk yLku þheh MðkíktºÞLkwt hûký
(A) 1, 2 yLku 3 (B) 2 yLku 3
(C) 2 yLku 4 (D) 3 yLku 4

054. hk»xÙÃkrík MðÞt ÃkkuíkkLke heíku Lke[uLkk{ktÚke fE fxkufxeLke WË½ku»kýk fhe þfu Au ?
(A) çkkÌk yk¢{ýLku fkhýu fxkufxe (B) ¼khíkLkk hkßÞûkuºk{kt fkuE ¼køk{kt fxkufxe
(C) MkþMºk çktzLku fkhýu fxkufxe (D) WÃkhkuõík Ãkife yuf Ãký Lknª

055. ¼khíkLkk MktrðÄkLk îkhk Mkt½Lke fkhkuçkkhe Mk¥kk fkuLku ykÃkðk{kt ykðu÷ Au ?
(A) ðzk«ÄkLk (B) furçkLkux
(C) hk»xÙÃkrík (D) ÷kufMk¼k

056. Ëhuf Wå[ LÞkÞk÷Þ yuf {wÏÞ LÞkÞ{qŠíkLkwt yLku .......... Lkwt çkLkþu.
(A) ykuAk{kt ykuAk ºký çkeò LÞkÞ{qŠíkyku
(B) çktÄkhý{kt Lk¬e fÞko {wsçkLkk çkeò LÞkÞ{qŠíkyku
(C) MktMkË îkhk Lk¬e ÚkÞk {wsçkLkk çkeò LÞkÞ{qŠíkyku
(D) hk»xÙÃkrík ð¾íkkuð¾ík sYhe økýu yuðk çkeò LÞkÞ{qŠíkyku

057. fÞk ð»koLkk yrÄrLkÞ{Lke y{÷ðkheÚke furLÿÞ íkfuËkhe ykÞkuøkLku fkÞËkfeÞ Ëhßòu (statutory status) {¤u÷ Au ?
(A) 2003 (B) 2004
(C) 2000 (D) 2002

058. hkßÞLkk ykfÂM{f VtzLkwt Mkt[k÷Lk fkuLkk îkhk ÚkkÞ Au ?
(A) hk»xÙÃkrík (B) {wÏÞ{tºke
(C) hkßÞÃkk÷ (D) hkßÞ {tºke{tz¤

059. ¼khík{kt ÷kufÃkk÷Lke sYrhÞkík ytøku Lke[uLkk{ktÚke fkuýu ¼÷k{ý fhe níke ?
(A) Ãknu÷wt ðneðxe MkwÄkhýk fr{þLk, 1966 (B) ðUfx [u÷iÞk f{eþLk, 2002
(C) çkeswt ðneðxe MkwÄkhýk fr{þLk, 2007 (D) WÃkhkuõík ík{k{

060. ¼khíkLke Mkðkuoå[ yËk÷íku ¼khíkLkk MktrðÄkLk{kt òuøkðkE fhðk{kt ykðu÷ fÞk {q¤¼qík nfku{kt {krníkeLkk yrÄfkhLku
{kLÞíkk ykÃke níke ?
(A) ðkýe yLku yr¼ÔÞÂõíkLkk MðkíktºÞLkku nf (B) SðLk SððkLkku nf
(C) (A) íkÚkk (B) çktLku (D) WÃkhkuõík Ãkife yuf Ãký Lknª

061. yÂ~{¼qík çk¤íký çk¤ðkÚke WíÃkLLk ÚkkÞ Au –
(A) ykuÍkuLk (B) nkEzÙkusLk MkÕVkEz
(C) LkkExÙkusLk (D) WÃkhkuõík ík{k{

062. Úk{o÷ Ã÷kLxLke LkSfLkk Akuz fu su{kt Ãkqhíkk «{ký{kt «Ëq»ký rLkÞtºký ÃkØrík LkÚke nkuíke, ÃkktËzkLkk htøkÿÔÞkuLkwt ç÷e[ªøk
ÚkE þfu Au. yk {wÏÞíðu .......... Lkk rð{wõíkeLkk fkhýu çkLku Au.
(A) MkÕVh zkÞkuõMkkEz (B) r{ÚkuLk
(C) økh{e (D) fkçkoLk {kuLkkuõMkkEz
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063. f]rºk{ WÃkøkún{kt rðãwík WòoLkku Mºkkuík þwt Au ?

(A) Úk{kuoVkE÷ (B) Mkkih fku»kku

(C) zkÞLku{ku (D) LkkLkw yýw rhyuõxh

064. ykuÂõMkzuþLk{kt þk{u÷ Au –

(A) E÷uõxÙkuLMk{kt ðÄkhku (B) nkEzÙkusLk{kt ðÄkhku

(C) E÷uõxÙkuLMk{kt ½xkzku (D) ËnLkr¢Þk

065. {[ (MACH) LktçkhLkku WÃkÞkuøk fkuLke økríkLkk MktË¼o{kt ÚkkÞ Au ?

(A) yðfkþÞkLk (B) yðks

(C) ðnkýku (D) rð{kLk

066. ßÞkhu «ðkneLkwt íkkÃk{kLk ðÄu Au íÞkhu «ðkneLkku MkÃkkxe íkýkð...

(A) ½xu Au. (B) ðÄu Au.

(C) ÞÚkkðík hnu Au. (D) «Úk{ ðÄu Au yLku ÃkAe ½xu Au.

067. ßÞkhu æðrLk íkhtøkku nðk{ktÚke Ãkkýe{kt ÃkMkkh ÚkkÞ Au íÞkhu Lke[uLkk{ktÚke þwt ÞÚkkðík hnu Au ?

(A) økrík (B) íkhtøk÷tçkkE

(C) ykðíkoLk (D) íkeðúíkk

068. yuLkuMÚkuxef íkhefu fÞk ÃkËkÚkoLkku WÃkÞkuøk fhe þfkÞ Au ?

(A) LkkExÙMk ykuõMkkEz (B) õ÷kurhLk

(C) nur÷Þ{ (D) fkçkoLk zkÞkuõMkkEz

069. ðkÞw «Ëq»ký Mkq[fktf Lke[uLkk{ktÚke fkuLkk îkhk ònuh fhðk{kt ykðu Au ?

(A) ÃkÞkoðhý Mkthûký rð¼køk (B) Lkerík ykÞkuøk

(C) ÃkÞkoðhý {tºkk÷Þ (D) furLÿÞ «Ëq»ký rLkÞtºký çkkuzo

070. Lke[uLkk{ktÚke fÞwt ík¥ð hurzÞkuyuõxeð LkÚke ?

(A) ÞwhurLkÞ{ (B) ÍehfkuLkeÞ{

(C) Ã÷wxkurLkÞ{ (D) hurzÞ{

071. Lke[uLkk{ktÚke fÞku hkuøk f]r{sLÞ hkuøk Au ?

(A) VkE÷urhÞk (B) rzÃÚkeheÞk

(C) ûkÞ hkuøk (D) Ãkkur÷Þku

072. rçkøk-çkUøk rÚkÞheLkku «Úk{ Ãkwhkðku fkuýu ykÃÞku níkku ?

(A) Mkh søkËeþ[Lÿ çkkuÍ (B) MxeVLk nkufªøÍ

(C) yuzðeLk nççk÷ (D) WÃkhkuõík Ãkife yuf Ãký Lknª

073. yuf hurzÞkLke ðu[ký ®f{ík 20% rzMfkWLx ykÃkíkk YrÃkÞk 320 Au, íkku íkuLke AkÃku÷e ®f{ík fux÷e nþu ?

(A) 380 YrÃkÞk (B) 460 YrÃkÞk

(C) 440 YrÃkÞk (D) 400 YrÃkÞk
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074. òu “+” Lkku yÚko “”, “–” Lkku yÚko “”, “” Lkku yÚko “–” yLku “” Lkku yÚko “+” nkuÞ íkku Lke[uLkk Mk{efhýLke
®f{ík þwt Úkþu ?

12 + 11 21 – 7  9 = ...?...
(A) 136 (B) 130
(C) 126 (D) 168

075. yuf fkuLxÙkõxhu yuf fk{ 40 rËðMk{kt ÃkwYt fhðkLkwt ÷ûÞ rLkÄkohu÷ níkwt. íkuýu 30 {sqhkuLku fk{ Ãkh hk¾u÷k, suyku

10 rËðMk{kt
1
4  fk{ ÃkwYt fheLku síkk hnu÷k níkk. ykÚke çkkfe hnu÷wt fk{ rLkÄkoheík Mk{Þ{kt ÃkwYt fhðk {kxu fux÷k {sqhku

hk¾ðkLkk Úkþu ?
(A) 25 (B) 30
(C) 20 (D) 40

076. xÙf, fkh yLku xÙuELkLke ÍzÃkLkku økwýku¥kh yLkw¢{u 3 : 8 : 12 Au. fkh yuf Mkh¾e ÍzÃkÚke [k÷u Au yLku 12 f÷kf{kt
960 rf÷ku{exhLkwt ytíkh ÃkwYt fhu Au. íkku xÙf yLku xÙuELkLke MktÞwõík Mkhuhkþ ÍzÃk fux÷e ÚkkÞ ?

(A) 75 rf.{e./f÷kf (B) 60 rf.{e./f÷kf

(C) 56 rf.{e./f÷kf (D) WÃkhkuõík Ãkife yuf Ãký Lknª

077. yuf ðøko¾tz{kt fw÷ 80 rðãkÚkeoyku Au, íku Ãkife 15% Akufheyku Au. Ëhuf AkufheLke {rnLkkLke Ve YrÃkÞk 300 Au yLku Ëhuf
AkufhkLke {rnLkkLke Ve AkufheykuLke Ve Úke 45% ðÄkhu Au. ykÚke Akufheyku yLku Akufhkyku {¤eLku {rnLkkLke fw÷ fux÷k
YrÃkÞk Ve Úkþu ?

(A) 33480 YrÃkÞk (B) 33180 YrÃkÞk

(C) 32745 YrÃkÞk (D) 29580 YrÃkÞk

078. ¾k÷e søÞk{kt fE MktÏÞk ykðþu ?

125,  171,  263,  ........,  585
(A) 474 (B) 355
(C) 539 (D) 401

079. Lke[uLke ©]t¾÷k{kt ¾k÷e søÞk{kt þwt ykðþu ?

shg,  rif,  qje,  pkd,  ........
(A) onc (B) omc
(C) olc (D) olb

080. òu a + b = 8, a – b = 4 nkuÞ íkku, 2(a2 + b2) fux÷k Úkþu ?
(A) 80 (B) 40
(C) 60 (D) 20

081. çku MktÏÞkykuLkku økwýku¥kh 3 : 4 Au yLku økwYík{ MkkÄkhý yðÞð 5 Au íkku ÷½wík{ MkkÄkhý yðÞð þwt Úkþu ?
(A) 12 (B) 60
(C) 15 (D) 20

082. ºký swËk swËk hkuz ¢ku®MkøMk ÃkhLkk xÙkrVf ÷kExTMk yLkw¢{u Ëh 18 MkufLz, 36 MkufLz yLku 72 MkufLz ÃkAe çkË÷kÞ Au. òu
íku çkÄk yuf MkkÚku 11:56:00 f÷kfu çkË÷kþu, íkku ÃkAe yuf MkkÚku fÞk Mk{Þu çkË÷kþu ?

(A) 11:58:00 f÷kfu (B) 11:57:24 f÷kfu

(C) 11:57:12 f÷kfu (D) 11:58:12 f÷kfu
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083.
2
5  Lke fux÷e xfkðkhe 

1
40  Au ?

(A) 12.50% (B) 6.25%
(C) 2.5% (D) 8%

084. yuf ÔÞÂõíkyu çkUf{ktÚke ðkŠ»kf MkkËk ÔÞksLkk 12% Lkk Ëhu ÷kuLk ÷eÄe níke. Ãkkt[ ð»ko ÃkAe íkuýu Võík íku Mk{Þøkk¤k {kxu
7200 YrÃkÞk ÔÞksLkk ykÃkðkLkk níkk. íkuLkk îkhk fux÷k YrÃkÞkLke ÷kuLk ÷uðk{kt ykðe nþu ?

(A) 15000 YrÃkÞk (B) 18000 YrÃkÞk

(C) 16000 YrÃkÞk (D) 12000 YrÃkÞk

085. 2020Lkk MkhMðíke MkB{kLkÚke fkuLku MkB{krLkík fhðk{kt ykðu÷ Au ?

(A) þhýfw{kh ®÷çkk÷u (B) {kunLkf]»ý ðkunhk

(C) rðï¼q»ký nrh[LÿLk (D) «ku. þhË Ãkøkkhu

086. rðsÞ nòhu xÙkuVe 2020-21 Lkku r¾íkkçk fkuýu Síku÷ Au ?

(A) økwshkík (B) {wtçkE

(C) fýkoxf (D) W¥kh «Ëuþ

087. 2021Lkku E-Ãkt[kÞík yuðkuzo fÞk hkßÞLku {¤u÷ Au ?

(A) hksMÚkkLk (B) {nkhk»xÙ

(C) W¥kh «Ëuþ (D) Ãktòçk

088. MkkuÞkçkeLk {kxu fÞk MÚk¤u furLÿÞ MktþkuÄLk MktMÚkkLk MÚkkÃkðk{kt ykðLkkh Au ?

(A) çkk÷kMkkuh (B) ¼ÿf

(C) fkuhÃkwh (D) fk÷knktze

089. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku.

1. f]r»k Þtºkefhý ÞkusLkk – Mkçk r{þLk ykuLk yuøkúefÕ[h÷ {efuLkkEÍuþLk (SMAM) Lke þYykík ¼khík Mkhfkh îkhk
ð»ko 2014-15 {kt fhðk{kt ykðe níke.

2. furLÿÞ çksux 2021-22 {kt yk ÞkusLkk {kxu YrÃkÞk 1050 fhkuzLke Vk¤ðýe fhðk{kt ykðu÷ Au.

(A) çktLku rðÄkLkku ¾kuxkt Au. (B) çktLku rðÄkLkku Mkk[kt Au.

(C) rðÄkLk 1 Mkk[wt yLku 2 ¾kuxwt Au. (D) rðÄkLk 1 ¾kuxwt yLku 2 Mkk[wt Au.

090. “2020 xÙe rMkxe ykuV Ä ðÕzo” Lkku r¾íkkçk fÞk þnuhLku {¤u÷ Au ?

(A) niËhkçkkË (B) ÃkurhMk

(C) ÷tzLk (D) xkurfÞku

091. ¼khíkLkwt Ãknu÷wt Ãkqýo yktíkhhk»xÙeÞ ¢qÍ “Mkkøkrhfk” xŠ{Lk÷Lkwt fÞk hkßÞ{kt WËT½kxLk fhðk{kt ykðu÷ Au ?

(A) yktÄú «Ëuþ (B) ykurzþk

(C) fuh÷ (D) {nkhk»xÙ

092. Ëuþ{kt «Úk{ ð¾ík {uxÙku-rLkÞku ÃkrhðnLk «ýk÷e fÞk þnuh{kt þY fhðkLkwt ykÞkusLk Au ?

(A) Ãkwýu (B) ykihtøkkçkkË

(C) ðkhkýMke (D) LkkrMkf
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093. «MkkË ÞkusLkkLkk MktË¼o{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku fÞwt / fÞkt rðÄkLk/rðÄkLkku Mkk[wt/Mkk[kt Au íkuLkku rðfÕÃk
ÃkMktË fhku.

1. yk ÞkusLkk ¼khík MkhfkhLkk ÃkÞoxLk {tºkk÷Þ îkhk ð»ko 2014-15 {kt þY fhðk{kt ykðu÷ Au.

2. yk ÞkusLkk{kt íkksuíkh{kt çkBçk÷uïhe {trËh, zkUøkhøkZ, A¥keMkøkZLke ÃkMktËøke ÚkÞu÷ Au.

(A) çktLku rðÄkLkku ¾kuxkt Au. (B) çktLku rðÄkLkku Mkk[kt Au.

(C) rðÄkLk 1 ¾kuxwt yLku 2 Mkk[wt Au. (D) rðÄkLk 1 Mkk[wt yLku 2 ¾kuxwt Au.

094. MðåA ykEfkuLkef MÚk¤ (SIP) Lkk [kuÚkk [hý{kt fw÷ fux÷k MÚk¤kuLkku Mk{kðuþ ÚkÞu÷ Au ?
(A) 12 (B) 10
(C) 14 (D) 15

095. “MkwøkBÞ ¼khík yuÃk” fÞk {tºkk÷Þ îkhk ÷kuL[ fhðk{kt ykðu÷ Au ?

(A) MktMf]rík {tºkk÷Þ (B) Mkk{krsf LÞkÞ yLku yrÄfkrhíkk rð¼køk

(C) ÃkÞoxLk {tºkk÷Þ (D) ÞkusLkk {tºkk÷Þ

096. ¼khík MkhfkhLkk {rn÷k yLku çkk¤ rðfkMk {tºkk÷ÞLke çkÄe {wÏÞ ÞkusLkkykuLku .......... Aºke (Umbrela) ÞkusLkkyku
ytíkøkoík íkksuíkh{kt ðøkeof]ík fhðk{kt ykðu÷ Au.

(A) Ãkkt[ (B) [kh

(C) A (D) ºký

097. “fkuðiõMk” fkÞo¢{ ytíkøkoík fkuhkuLkk ðkÞhMkLke hMke «kÃík fhLkkh ËwrLkÞkLkku Ãknu÷ku Ëuþ fkuý çkLku÷ Au ?

(A) çkktø÷kËuþ (B) ¼qíkkLk

(C) ½kLkk (D) LkuÃkk¤

098. ¼khíkLke Ãknu÷e EsLkuhe MktþkuÄLk yLku rðfkMk Lkerík fÞk hkßÞ îkhk þY fhðk{kt ykðu÷ Au ?

(A) fýkoxf (B) fuh÷

(C) yktÄú «Ëuþ (D) íku÷tøkýk

099. ¼khík Mkhfkh îkhk þY fhðk{kt ykðu÷ rðrþü ¼qr{ ÃkkMko÷ yku¤¾ MktÏÞk (Unique Land Parcel Identification
Number) ÞkusLkk fux÷k ytfkuLke Au ?
(A) 10 (B) 16
(C) 12 (D) 14

100. ykŠÚkf Mkðuoûký 2020-21 {wsçk fux÷k ð»ko ÃkAe ¼khíkLkwt ðkŠ»kf [k÷w ¾kíkw Ãkwhktík MkkÚku çktÄ ÚkÞwt níkwt ?
(A) 17 (B) 15
(C) 20 (D) 16
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101. Suppose that the probability of event A is 0.2 and the probability of event B is 0.4. Also,
suppose that the two events are independent. Then P(A|B) is:
(A) 0.2 (B) 0.5
(C) 0.08 (D) None of the above.

102. The measuring theorem which helps in determining proportion of observations for specific
interval of mean and standard deviation is classified as
(A) Pearson Theorem (B) Chebyshev’s Theorem
(C) Sampling Theorem (D) Population Theorem

103. The order cost per order of an inventory is Rs. 400 with an annual carrying cost of Rs. 10
per unit. The Economic Order Quantity (EOQ) for an annual demand of 2000 units is
(A) 400 (B) 440
(C) 480 (D) 500

104. A medical treatment has a success rate of .8. Two patients will be treated with this
treatment. Assuming the results are independent for the two patients, what is the
probability that neither one of them will be successfully cured?
(A) .5 (B) .36
(C) .2 (D) .04

105. Which of the following is an example of time series problem?
1. Estimating number of hotel rooms booking in next 6 months.
2. Estimating the total sales in next 3 years of an insurance company.
3. Estimating the number of calls for the next one week.
(A) Only 3 (B) 1 and 2
(C) 2 and 3 (D) 1, 2 and 3

106. What does autocovariance measure?
(A) Linear dependence between multiple points on the different series observed at different

times
(B) Quadratic dependence between two points on the same series observed at different

times
(C) Linear dependence between two points on different series observed at same time
(D) Linear dependence between two points on the same series observed at different times

107. In a city 60% read newspaper A, 40% read newspaper B and 30% read newspaper C, 20%
read A and B, 30% read A and C, 10% read B and C. Also 5% read paper A, B and C. The
percentage of people who do not read any of these newspapers is:
(A) 90% (B) 75%
(C) 25% (D) 40%

108. If F(x, y) is a non-decreasing cumulative distribution of two-dimensional random variables
X and Y, then F(x, y) holds the relation:
(A) F(-∞, y) = F(x, -∞) =0, F(∞, ∞)=1 (B) F(-∞, y) = F(x, -∞) =1, F(∞, ∞)=1
(C) F(-∞, y) = F(x, -∞) = F(∞, ∞) = 0 (D) None of the above.

109. If t is a consistent estimator of , then:
(A) t is also a consistent estimator of 2 (B) t2 is also a consistent estimator of 2

(C) t2 is also a consistent estimator of (D) None of the above
110. If Z1 and Z2 are 2 independent standard normal random variables, then the characteristic

function of (Z1+Z2) is:
(A) Exp(-t) (B) Exp(-2t)
(C) Exp(-t/2) (D) None of the above
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111. If the loss function is quadratic, then:
(A) The risk of a scalar estimator is just its variance
(B) The risk of a scalar estimator is generally less than its variance
(C) The risk of a vector estimator is the trace of its matrix mean squared error
(D) The risk of a vector estimator is just its matrix mean squared error

112. When we evaluate the Jacobian associated with a transformation from one probability
distribution to another:
(A) We use the absolute value because a density function cannot take negative values
(B) We must be dealing with scalar random variables, not random vectors
(C) The intention is make sure that the support of the new random variable is the full real

line
(D) The intention is make sure that the support of the new random variable is the positive

half of the real line
113. To test the randomness of a sample, the appropriate test is

(A) Run Test (B) Sign Test
(C) Median Test (D) None of these

114. Variance of stx under random sampling, proportional allocation and optimum allocation 
hold the correct inequality as: 
(A) Vran( stx )≤Vprop( stx )≤Vopt( stx ) (B) Vran( stx )≥Vprop( stx )≥Vopt( stx ) 
(C) Vran( stx )≤Vopt( stx )≤Vprop( stx ) (D) All the above

115. Suppose that Y follows a Binomial distribution with parameter 'p' equal to the probability
of a 'success', and 'n' repetitions. Then the MLE of the standard deviation of Y is:
(A) The square root of np(1-p)
(B) The square root of y(n-y)/n, where y is the observed number of 'successes' in the sample
(C) The square root of n(y-n)/y, where y is the observed number of 'successes' in the sample
(D) The square root of ny, where y is the observed number of 'successes' in the sample

116. The connection between a sufficient statistic and an MLE is:
(A) A sufficient statistic is always an MLE
(B) There is no connection in general
(C) All MLE's are linear combinations of sufficient statistics
(D) If an MLE is unique, then it must be a function of a sufficient statisti

117. The method of least squares finds the best fit line that the error between observed and
estimated points on the line are
(A) maximize (B) minimize
(C) minimize or maximize (D) approaches to infinity

118. In-which of the methods the entire population is divided into a number of homogeneous
groups
(A) two stage sampling (B) cluster sampling
(C) simple random sampling (D) stratified random sampling

119. Selection of a football team for FIFA World Cup is called as?
(A) Random sampling (B) Systematic Sampling
(C) Purposive sampling (D) Cluster sampling

120. Linear and circular systematic sampling methods are equivalent if and only if:
(A) N is a whole number (B) n is a whole number
(C) N =n (D) None of the above
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121. What can you say about the efficiency of the multistage sampling, compared to single stage
sampling?
(A) no efficient (B) more efficient
(C) equal efficient (D) less efficient

122. The method of confounding is a device to reduce the size of
(A) blocks (B) experiments
(C) treatments (D) replications

123. For two variables X and Y the equations of the regression lines are 9y – x – 288 = 0 and x –
4y + 38 = 0. The correlation coefficient between X and Y is
(A) 1/36 (B) 3/2
(C) 1/9 (D) 2/3

124. Suppose that there are 500 Accounts in a population, a sample 50 of them gives a sample
total as 5000. What would be your estimate for the population total?
(A) 5, 000 (B) 50, 000
(C) 1, 00, 000 (D) 5, 00, 000

125. For Cauchy population
(A) The median is unbiased and not consistent estimator of the population mean
(B) The sample median is an unbiased and consistent estimator of the population mean
(C) The sample mean is biased and consistent estimator of the population mean
(D) The sample mean is an unbiased and consistent estimator of the population mean

126. Error sum of square in randomized block design as compared to complete randomized
design using the same material is:
(A) More (B) Less
(C) Equal (D) Not comparable

127. While analysis the data of a K x K Latin square, the error degree of freedom in analysis of
variance is equal to:
(A) (K-1)(K-2) (B) (K-2)(K-3)
(C) K2-4 (D) None of the above

128. If the interactions AB and AC are confounded with incomplete blocks in a 2n factorial
experiment, then automatically confounded effect is
(A) ABC (B) A
(C) C (D) AC

129. In randomised block design, we always have;
(A) No. of blocks = No. of treatments (B) No. of blocks < No. of treatments
(C) No. of blocks > No. of treatments (D) None of the above

130. In Balanced Incomplete Block Design (BIBD) every pair of treatment should occur λ times
together in the design, thus constraint on BIBD sometimes requires very large number of
blocks or very large block size. To overcome this difficulty we consider
(A) PBIBD. (B) BIBD.
(C) ANOVA. (D) ANOCOVA.

131. If the value of a series at any time t is a function of its values at some previous time
intervals, such a time series known as:
(A) Autoregressive series (B) Fourier Series
(C) Harmonic series (D) All the above
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132. For an autoregressive process to be considered stationary
(A) The roots of the characteristic equation must all lie inside the unit circle
(B) The roots of the characteristic equation must all lie on the unit circle
(C) The roots of the characteristic equation must all lie outside the unit circle
(D) The roots of the characteristic equation must all be less than one in absolute value

133. Which one of the following statements is true concerning alternative forecast accuracy
measures?
(A) Mean squared error is usually highly correlated with trading rule profitability
(B) Mean absolute error provides a quadratic loss function
(C) Mean absolute percentage error is a useful measure for evaluating asset return

forecasts
(D) Mean squared error penalises large forecast errors disproportionately more than small

forecast errors
134. Wishart distribution is the multivariate generalization of

(A) t- distribution. (B) Binomial distribution.
(C) Chi-square distribution. (D) Normal distribution.

135. Flip a coin and then independently cast a die. What is the probability of observing heads on
the coin and a 2 or 3 on a die?
(A) 1/6 (B) 1/4
(C) 2/3 (D) 1/3

136. Mean square error of estimator obtained by the method of minimum Chi-square is
(A) More than or equal to ML Estimators (B) More than ML Estimators
(C) Equal to ML Estimators (D) Less than ML Estimator

137. For n > 4 and n < 30, the t-distribution curve with regard topeakedness is
(A) Bimodal (B) Leptokurtic
(C) Platykurtic (D) Mesokurtic

138. To test a hypothesis involving proportions np and n(1- p) should
(A) be greater than 50 (B) let in the range of 0 to 1
(C) be greater than 5 (D) be at least 30

139. The pairwise contrasts among the three treatment is
(A) T1 + T3 – 2T2 (B) T3 – T1

(C) T1 + T2 – 2T3 (D) 2T1 + T2 – 3T3

140. If μ and σ are the process mean and standard deviation, then the control limits μ ± σ are
known as
(A) modified control limits (B) unspecified control limits
(C) specified control limits (D) natural control limits

141. The assumption that the variable of the residuals about the predicted dependent variable
scores should be the same for all predicted scores reflects which assumption?
(A) homogeneity (B) multicollinearity
(C) homoscedasticity (D) singularity

142. For Binomial distribution n = 10 and p = 0.6, E(X2) is
(A) 10 (B) 28
(C) 36 (D) 38.4

143. The two independent random variables X and Y have variances 0.2 and 0.5 respectively.
Let Z= 5X-2Y. The variance of Z is?
(A) 3 (B) 4
(C) 5 (D) 7
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144. Random samples of size 36 are taken from an infinite population whose mean is 80 and
standard deviation is 18. The mean and standard error of the sampling distribution of
sample means are, respectively:
(A) 80 and 18 (B) 80 and 2
(C) 80 and 3 (D) 36 and 2

145. What is the mean time to failure if time to failure of a gadget follows Weibull distribution
with scale = 1000 hours and shape = 0.5?
(A) 2500 hours (B) 1500 hours
(C) 3000 hours (D) 2000 hours

146. What does the graph of ‘bathtub curve’ represent?
(A) Failure rate v/s Mean (B) Failure rate v/s Time
(C) Failure rate v/s Distance (D) Failure rate v/s Velocity

147. If T1 is the most efficient estimators with variance V1 and T2 is another estimator with
variance V2 then the efficiency of T2 is given by
(A) V1 – V2 (B) V2 – V1

(C) V1 / V2 (D) V2 / V1

148. In 256 sets of twelve tosses of a fair coin, in how many cases may one except eight heads and
four tails?
(A) 20 (B) 22
(C) 27 (D) 31

149. An estimator is said to be sufficient for a parameter, if
(A) it contains all the information in the sample regarding the parameters
(B) the variance of the estimator is less
(C) the mathematical expectation of the estimator is equal to the parameter
(D) it contains parameters

150. The family of parametric distributions, for which the mean and variance does not exist.
(A) Polya’s distribution (B) Cauchy distribution
(C) Negative Binomial distribution (D) Normal distribution

151. Logistic regression is used when you want to:
(A) Predict a dichotomous variable from continuous or dichotomous variables.
(B) Predict a continuous variable from dichotomous variables.
(C) Predict any categorical variable from several other categorical variables.
(D) Predict a continuous variable from dichotomous or continuous variables.

152. What assumption does ANCOVA have that ANOVA does not?
(A) Homogeneity of variance (B) Homoscedasticity
(C) Homogeneity of sample size (D) Homogeneity of regression slopes

153. The odds ratio is:
(A) The ratio of the probability of an event not happening to the probability of the event

happening.
(B) The probability of an event occurring.
(C) The ratio of the odds after a unit change in the predictor to the original odds.
(D) The ratio of the probability of an event happening to the probability of the event not

happening.
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154. R-charts are preferable over σ-charts because:
(A) R and S.D. fluctuate together in case of small samples
(B) R is easily calculable
(C) R-charts are economical
(D) All the above

155. The lowest A.S.N. curve of a sampling plan as compared to any other sampling plan under
similar conditions is considered:
(A) Better (B) Inferior
(C) Useless (D) None of the above

156. When the lot contains all defectives, the OC function for p=1 is:
(A) L(p)=0 (B) L(p)=1
(C) L(p)=∞ (D) None of the above

157. Which of the following are affected by including a covariate in an analysis of variance?
(A) The error mean square (B) The between-subjects mean square
(C) The F-ratio (D) All of these.

158. Which one of these statements is not a Gauss-Markov assumption?
(A) That the error term has a conditional mean of zero
(B) Absence of influential observations.
(C) That the error term has constant variance
(D) That the errors are uncorrelated

159. If EOQ is calculated, but an order is then placed which is smaller than this, will the
variable cost:
(A) Increase (B) Decrease
(C) Either increase or decrease (D) No change

160. Which of the following statements about MANOVA is correct?
(A) MANOVA is appropriate for data that have one or more dependent variables and more

than two independent variables.
(B) MANOVA is appropriate for data with two or more dependent variables and one or

more independent variables.
(C) MANOVA is appropriate for data with two or more dependent variables and only one

independent variable.
(D) MANOVA is appropriate for data with only one dependent variable and more than

three independent variables.
161. In a two tailed test when a Null Hypothesis is rejected for a True Alternative Hypothesis

then it has _______
(A) Type 1 error (B) Type 2 error
(C) No error (D) Many errors

162. What is the area under a conditional Cumulative density function?
(A) 0 (B) Infinity
(C) 1 (D) 3

163. A jar contains ‘y’ blue colored balls and ‘x’ red colored balls. Two balls are pulled from the
jar without replacing. What is the probability that the first ball is blue and second one is
red?
(A) (xy−y)/( x2+y2+2xy−(x+y)) (B) xy/(x2+y2+2xy−(x+y))
(C) (y2−y)/( x2+y2+2xy−(x+y)) (D) (xy−y)/( x2+y2+2xy−(x−y))
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164. At a certain university, 4% of men are over 6 feet tall and 1% of women are over 6 feet tall.
The total student population is divided in the ratio 3:2 in favour of women. If a student is
selected at random from among all those over six feet tall, what is the probability that the
student is a woman?
(A) 2⁄5 (B) 3⁄5
(C) 3⁄11 (D) 1⁄100

165. A population has 10 items and a sample has been selected from it containing 5 items. Find
the finite population correction factor.
(A) (5/8)1/2 (B) (5/7)1/2

(C) (5/9)1/2 (D) (5/6)1/2

166. Which of the following statistical tests allows causal inferences to be made?
(A) Analysis of variance
(B) Regression
(C) None of these, it’s the design of the research that determines whether causal inferences

can be made.
(D) t-test

167. What is b0 in regression analysis?
(A) The value of the outcome when all of the predictors are 0.
(B) The relationship between a predictor and the outcome variable.
(C) The value of the predictor variable when the outcome is zero.
(D) The gradient of the regression line.

168. Which of the following statements is TRUE concerning the standard regression model?
(A) y has a probability distribution
(B) x has a probability distribution
(C) The disturbance term is assumed to be correlated with x
(D) For an adequate model, the residual (u-hat) will be zero for all sample data points

169. The power of MANOVA to detect an effect depends on:
(A) A combination of the correlation between dependent variables and the effect size to be

detected.
(B) A combination of the correlation between independent variables and the effect size to be

detected.
(C) A combination of the correlation between independent and dependent variables.
(D) None of these

170. A researcher was interested in stress levels of lecturers during lectures. She took the same
group of 8 lecturers and measured their anxiety (out of 15) during a normal lecture and
again in a lecture in which she had paid students to be disruptive and misbehave. The data
were not normally distributed. Which test should she use to compare her experimental
conditions?
(A) Paired samples t-test (B) Mann–Whitney test
(C) Wilcoxon rank-sum test (D) Wilcoxon signed-rank test

171. Assuming the assumptions of parametric tests are met, non-parametric tests, compared to
their parametric counterparts:
(A) Are all of these.
(B) Are more conservative.
(C) Are less likely to accept the alternative hypothesis.
(D) Have less statistical power.
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172. Which of the following assumptions are required to show the consistency, unbiasedness and
efficiency of the OLS estimator?
i) E(ut) = 0
ii) Var(ut) = σ2

iii) Cov(ut, ut-j) = 0 ∀ j
iv) ut ~N(0, σ2)
(A) (ii) and (iv) only (B) (i) and (iii) only
(C) (i), (ii), and (iii) only (D) (i), (ii), (iii), and (iv)

173. Including relevant lagged values of the dependent variable on the right-hand side of a
regression equation could lead to which one of the following?
(A) Biased but consistent coefficient estimates
(B) Biased and inconsistent coefficient estimates
(C) Unbiased but inconsistent coefficient estimates
(D) Unbiased and consistent but inefficient coefficient estimates.

174. Near multicollinearity occurs when
(A) Two or more explanatory variables are perfectly correlated with one another
(B) The explanatory variables are highly correlated with the error term
(C) The explanatory variables are highly correlated with the dependent variable
(D) Two or more explanatory variables are highly correlated with one another

175. A leptokurtic distribution is one which
(A) Has fatter tails and a smaller mean than a normal distribution with the same mean and

variance
(B) Has fatter tails and is more peaked at the mean than a normal distribution with the

same mean and variance
(C) Has thinner tails and is more peaked at the mean than a normal distribution with the

same mean and variance
(D) Has thinner tails than a normal distribution and is skewed.

176. Which one of the following would be a plausible response to a finding of residual non-
normality?
(A) Use a logarithmic functional form instead of a linear one
(B) Add lags of the variables on the right-hand side of the regression model
(C) Estimate the model in first differenced form
(D) Remove any large outliers from the data.

177. If E(x) = 2 and E(z) = 4, then E(z – x) =?
(A) 2 (B) 6
(C) 0 (D) Insufficient data

178. The sign test assumes that the
(A) Samples are independent (B) Samples are dependent
(C) Samples have the same mean (D) None of these

179. Wilcoxon Rank-Sum test can be of
(A) Upper tailed (B) Lower tailed
(C) Either upper tail or lower tail (D) None of the above

180. How is stratified sampling carried out?
(A) Divide the population into homogeneous groups and select equally but randomly
(B) Assigning numbers to the population & selecting the numbers
(C) A sample is made up of elements which are said 10th from the previous selection
(D) Population divides itself into groups and we select equally but randomly from each
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181. If two events are independent, then
(A) They must be mutually exclusive
(B) The sum of their probabilities must be equal to one
(C) The probability of their intersection must be zero
(D) None of the other answers is correct

182. If A and B are independent events with P(A)=0.38 and P(B)=0.55, then P(A|B)=?
(A) 0.209 (B) 0.000
(C) 0.550 (D) None of the other answers is correct

183. If X and Y are independent random variables then SD(X-Y) will be
(A) SD(X) – SD(Y) (B) SD(X) + SD(Y)
(C) SD(X) * SD(Y) (D) SD(X+Y)

184. If α=0.05%, the value of one-tailed Z test will be
(A) 1.96 (B) 1.64
(C) 2.33 (D) 2.58

185. Rao-Blackwell Theorem enables us to obtain minimum variance unbiased estimator
through:
(A) Unbiased Estimators (B) Complete Statistics
(C) Efficient Statistics (D) Sufficient Statistics

186. What would be the probability of an event ‘G’ if H denotes its complement, according to
the axioms of probability?
(A) P (G) = 1 / P (H) (B) P (G) = 1 – P (H)
(C) P (G) = 1 + P (H) (D) P (G) = P (H)

187. The probability of rejecting a false H0 is
(A) Level of significance (B) Level of confidence
(C) Critical region (D) Power of test

188. For an estimator to be consistent, the unbiasedness of the estimator is:
(A) Necessary (B) Sufficient
(C) Neither Necessary nor Sufficient (D) None of these

189. For a particular hypothesis test, α=0.05, and β=0.10. The power of this test is:
(A) 0.15 (B) 0.90
(C) 0.85 (D) 0.95

190. In an experiment, events A and B are mutually exclusive, if P(A)=0.6, then the probability
of B
(A) Cannot be larger than 0.4
(B) Can be any value greater than 0.6
(C) can be any value between 0 and 1
(D) Cannot be determined with the information given

191. The Spearman Rank-Correlation test requires that the
(A) Data must be measured on the same scale
(B) Data should be of ordinal scale at least
(C) Data must be from two independent samples
(D) Data must be distributed at least approximately as t-distribution

192. Which of the following statements is true about autocorrelation?
(A) Consecutive values of Errors term or observations are correlated
(B) Regressors are correlated
(C) The conditional distribution of error terms is constant
(D) Consecutive errors or observations are uncorrelated
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193. The Mann-Whitney U test is preferred to a t-test when
(A) Data are paired (B) Sample sizes are small
(C) The assumption of normality is not met (D) Sample is dependent

194. In one-way ANOVA with total number of observations is 15 with 5 treatments then total
degrees of freedom is
(A) 75 (B) 3
(C) 10 (D) 14

195. In statistical hypothesis test of equality of means, such as H0:µ=10, if 𝜶=5%
(A) 95% of the time we will make an incorrect inference
(B) 5% of the time we will say that there is a real difference when there is no difference

(Type I error)
(C) 5% of the time we will say that there is no real difference when there is a difference

(Type II error)
(D) 95% of the time the null hypothesis will be correct

196. Re-ordering level is calculated as
(A) Maximum consumption rate x Maximum re-order period
(B) Minimum consumption rate x Minimum re-order period
(C) Maximum consumption rate x Minimum re-order period
(D) Minimum consumption rate x Maximum re-order period

197. In two-way ANOVA with m=5, n=4, then the total degrees of freedom is
(A) 20 (B) 21
(C) 19 (D) 18

198. The value of Durbin Watson d lie between
(A) -4 and 4 (B) 0 and ∞
(C) 0 and 4 (D) 0 and 1

199. A ________ error is made if H1 is true but H0 is accepted
(A) Type-I (B) Type-II
(C) Sampling error (D) The standard error of the mean

200. With a lower significance level, the probability of rejecting a null hypothesis that is actually
true:
(A) Decreases (B) Remains the Same
(C) Increases (D) All of the Above

201. Chance or random variation in the manufactured product is:
(A) Controllable (B) Not controllable
(C) Both (A) and (B) (D) None of the above

202. The sampling procedure that includes all units of the population in the study is called
(A) Complete coverage (B) Saturation survey
(C) Survey population (D) (A) and (B) above

203. To control the quality of a specific resistance of a wire, one can use
(A) Xbar-chart (B) R-chart
(C) Both (A) and (B) (D) None of these

204. Which of the action does not make sense to take in order to struggle against
multicollinearity?
(A) Add more regressors in the model
(B) Increase more observations
(C) Decrease the number of regressors in the model
(D) None of these
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205. The set of equations obtained in the process of least square estimation are called:
(A) Normal Equations (B) Intrinsic Equations
(C) Simultaneous Equations (D) All of the Above

206. The advantage of using statistical sampling techniques is that such techniques
(A) Mathematically measure risk
(B) Eliminate the need for judgmental decisions
(C) Are easier to use than other sampling techniques
(D) Have been established in the courts to be superior to non-statistical sampling

207. A deserving player is not selected in national team, it is an example of
(A) Type-II error (B) Type-I error
(C) Correct decision (D) Sampling error

208. Heteroscedasticity is more common in
(A) Time-series data than cross-Sectional data
(B) Cross-sectional data than time-series data
(C) Panel data
(D) Meta Data

209. In one-way ANOVA, given SSB = 2580, SSE = 1656, k = 4, n = 20 then the value of F is
(A) 7.3 (B) 8.3
(C) 9.3 (D) 19.3

210. Which of the following is an example of using statistical sampling?
(A) Statistical sampling will be looked upon by the courts as providing superior audit

evidence
(B) Statistical sampling requires the auditor to make fewer judgmental decisions
(C) Statistical sampling aids the auditor in evaluating results
(D) Statistical sampling is more convenient to use than non-statistical sampling

211. Using Chebyshev’s inequality, calculate the percentage of observations that would fall
outside 3 standard deviations of the mean.
(A) 89% (B) 11%
(C) 90% (D) None of the above

212. Which of the following is true for Inventory control?
(A) Economic order quantity has minimum total cost per order
(B) Inventory carrying costs increases with quantity per order
(C) Ordering cost decreases with lo size
(D) All of the above

213. The time period between placing an order its receipt in stock is known as
(A) Lead time (B) Carrying time
(C) Shortage time (D) Over time

214. A population is perfectly homogenous in respect of a characteristic. What size of sample
would you prefer?
(A) a large sample (B) a small sample
(C) whole item (D) single item

215. If generated value of tolerance is equal to 1 it is an indication of
(A) high multicollinearity (B) no multicollinearity
(C) perfect multicollinearity (D) low multicollinearity
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216. ___ used a regression of leaf area on leaf weight to estimate the average area of the leaves
on a plant.
(A) Watson (B) Keyfitz’
(C) Olkin (D) Yates

217. If R2 is zero, that is no multicollinearity, the variance inflation factor (VIF) will be
(A) three (B) two
(C) one (D) zero

218. Which one problem out of the four is not related to stratified sampling?
(A) fixing the points of demarcation between strata
(B) fixing the sample size
(C) fixing the number of strata
(D) fixing the criterion for stratification

219. Geometric mean gives ___ weight to equal ratio of changes
(A) Unequal (B) Equal
(C) Proportional (D) Random

220. ___ provides a most powerful test of simple null hypothesis against a simple alternative
hypothesis (A)
(A) Factorization theorem (B) Neymann Pearson lemma
(C) Chapman Robbins Inequality (D) Likelihood Ratio test

221. The method of minimum variance approach is based on
(A) Consistency and Sufficiency (B) Consistency and Minimum variance
(C) Unbiasedness and Consistency (D) Unbiasedness and Minimum variance

222. One ticket is selected at random from 100 tickets ) numbered from 0, 1, 2, ….99. If X and Y 
denote the sum and product of the digit, on the tickets then P(X =9/Y = 0)= 
(A) 2/19 (B) 3/19
(C) 4/19 (D) 5/19

223. Among the following various methods which method is suitable for measuring trend values
(A) Free hand method (B) Simple average method
(C) Moving average method (D) Both (A) and (C)

224. The skewness in a binomial distribution will be zero if
(A) p < 1/2 (B) p = 1/2
(C) p > 1/2 (D) p < q

225. Which of these non-parametric tests is equivalent to the paired-t-test in parametric tests?
(A) Run test (B) Kruskal Walli’s test
(C) Median test (D) Sign test

226. Number of periods included in a group for moving averages depend on ___ in a time series
data
(A) Curvilinear trend (B) Cyclic fluctuations
(C) Seasonal fluctuations (D) Period of oscillation

227. Adjustments practices while editing the time series data for analysis in
(A) Quality, price, and locality (B) Locality variation
(C) Price variation (D) Quality variation

228. Suppose the price of a commodity is RS.20 in 2010 and RS.30 in 2015. From 2010 to 2015,
the price of commodity is increased by
(A) 100% (B) 75%
(C) 50% (D) 25%
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229. Error sum of squares in RBD as compared to CRD using the same material is
(A) Not-comparable (B) Equal
(C) Less (D) More

230. An appropriate control chart for number of defectives is
(A) d-chart (B) c-chart
(C) u-chart (D) p-chart

231. In an assignment problem with 4 jobs and 4 machines, the number of basic variables is
(A) 7 (B) 8
(C) 4 (D) None of these

232. In a linear programming problem of an assignment problem with 4 jobs and 4 machines,
the number of decision variables is
(A) 16 (B) 8
(C) 4 (D) None of these

233. Which of the following is an optimal solution of the integer linear programming problem?
𝑴𝒂𝒙 (𝒙𝟏 + 𝒙𝟐) Subject to 𝟑𝒙𝟏 + 𝟐𝒙𝟐 ≤ 𝟑, 𝒙𝟏 ≥ 𝟎, 𝒙𝟐 ≥ 𝟎, 𝒙𝟏 is an integer.
(A) 𝒙𝟏 = 𝟏, 𝒙𝟐 = 𝟎 (B) 𝒙𝟏 = 𝟎, 𝒙𝟐 = 𝟎

(C) 𝒙𝟏 = 𝟎, 𝒙𝟐 = 𝟏. 𝟓 (D) None of these
234. Which of the following is correct for the integer linear programming problem

𝐌𝐚𝐱(𝐱𝟏 + 𝐱𝟐) Subject to 𝐱𝟏 + 𝐱𝟐 = 𝟏, 𝐱𝟏 ≥ 𝟎, 𝐱𝟐 ≥ 𝟎, 𝐱𝟏 and 𝐱𝟐 are integers.
(A) No optimal solution exist for the considered integer linear programming problem
(B) Unique optimal solution exist for the considered integer linear programming problem
(C) Only two optimal solutions exist for the considered integer linear programming

problem
(D) Infinite number of optimal solutions exist for the considered integer linear

programming problem
235. For a NLPP, having 4 constraints and 3 variables the order of HB (Bordered Hessian

matrix) is
(A) 4×3 (B) 3×4
(C) 6×6 (D) None of these

236. The dual of the linear programming problem 𝑴𝒊𝒏 (𝒙𝟏) Subject to 2𝒙𝟏 ≥ 𝟏, 𝒙𝟏 ≥ 𝟎 is
(A) 𝑴𝒂𝒙 (𝒚𝟏) Subject to 2𝒚𝟏 ≥ 𝟏, 𝒚𝟏 ≥ 𝟎

(B) 𝑴𝒂𝒙 (𝒚𝟏) Subject to 2𝒚𝟏 ≤ 𝟏, 𝒚𝟏 ≥ 𝟎

(C) 𝑴𝒂𝒙 (𝟐𝒚𝟏) Subject to 𝒚𝟏 ≥ 𝟏, 𝒚𝟏 ≥ 𝟎

(D) 𝑴𝒂𝒙 (𝟐𝒚𝟏) Subject to 𝒚𝟏 ≤ 𝟏, 𝒚𝟏 ≥ 𝟎

237. The optimal value of the linear programming problem
𝑴𝒊𝒏 (𝟐) Subject to 𝟒𝒙𝟏 + 𝟑𝒙𝟐 ≤ 𝟏𝟐, 𝒙𝟏 ≥ 𝟎, 𝒙𝟐 ≥ 𝟎 is
(A) 3 (B) 4
(C) 0 (D) None of these

238. The number of basic feasible solutions for a balanced transportation problem having 2
sources and 2 destinations will be
(A) 4 (B) 3
(C) ≤ 𝟒 (D) ≤ 𝟑

239. Which may be affected on changing the coefficient of a decision variable in the objective
function of a linear programming problem?
(A) Optimality (B) Feasibility
(C) Both Optimality and Feasibility (D) None of these
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240. Which of the following linear programming problem cannot be solved by Dual-Simplex
method?
(A) 𝑴𝒊𝒏 (𝒙𝟏 + 𝒙𝟐) Subject to 𝒙𝟏 + 𝒙𝟐 ≥ 𝟑, 𝒙𝟏 ≥ 𝟎, 𝒙𝟐 ≥ 𝟎

(B) 𝑴𝒊𝒏 (𝒙𝟏 + 𝒙𝟐) Subject to 𝒙𝟏 + 𝒙𝟐 ≥ 𝟐, 𝒙𝟏 ≥ 𝟎, 𝒙𝟐 ≥ 𝟎

(C) 𝑴𝒊𝒏 (𝒙𝟏 + 𝒙𝟐) Subject to 𝒙𝟏 + 𝒙𝟐 = 𝟐, 𝒙𝟏 ≥ 𝟎, 𝒙𝟐 ≥ 𝟎

(D) None of these
241. Which of the following is correct for the linear programming problem

𝑴𝒊𝒏 (𝟐𝒙𝟏 + 𝟑𝒙𝟐) Subject to 𝒙𝟏 + 𝒙𝟐 = 𝟐, 𝒙𝟏 ≥ 𝟎, 𝒙𝟐 ≥ 𝟎?
(A) 𝒙𝟏 = 𝟏, 𝒙𝟐 = 𝟏 is a basic solution for the given linear programming problem.
(B) 𝒙𝟏 = 𝟏, 𝒙𝟐 = 𝟏 is a basic feasible solution for the given linear programming problem.
(C) 𝒙𝟏 = 𝟏, 𝒙𝟐 = 𝟏 is a non-basic feasible solution for the given linear programming

problem.
(D) None of these

242. Which of the following linear programming problem cannot be solved by Simplex method?
(A) 𝑴𝒊𝒏 (𝟐𝒙𝟏 + 𝟑𝒙𝟐) Subject to 𝒙𝟏 + 𝒙𝟐 ≤ 𝟓, 𝒙𝟏 > 0, 𝒙𝟐 > 0

(B) 𝑴𝒊𝒏 (𝟐𝒙𝟏 + 𝟑𝒙𝟐) Subject to 𝒙𝟏 + 𝒙𝟐 ≥ −𝟒, 𝒙𝟏 ≥ 𝟎, 𝒙𝟐 ≥ 𝟎

(C) 𝑴𝒊𝒏 (𝟐𝒙𝟏 + 𝟑𝒙𝟐) Subject to 𝒙𝟏 + 𝒙𝟐 ≤ 𝟐, 𝒙𝟏 ≥ 𝟎, 𝒙𝟐 is unrestricted
(D) None of these

243. The optimal value of the problem
𝑴𝒊𝒏 (𝟑𝒙𝟏 + 𝟐𝒙𝟐 + 𝒙𝟑 + 𝟒𝒙𝟒) Subject to
𝒙𝟏 + 𝒙𝟐 + 𝒙𝟑 + 𝒙𝟒 ≤ 𝟏𝟐, 𝟒𝒙𝟏 + 𝟑𝒙𝟐 + 𝟐𝒙𝟑 + 𝟒𝒙𝟒 ≤ 𝟑𝟐, 𝒙𝟏 ≥ 𝟎, 𝒙𝟐 ≥ 𝟎, 𝒙𝟑 ≥ 𝟎, 𝒙𝟒 ≥ 𝟎 is
(A) 12 (B) 11.33
(C) 0 (D) None of these

244. The non-degenerate basic feasible solution to the Linear programming problem with
constraints 𝒙𝟏 + 𝒙𝟐 + 𝟐𝒙𝟑 = 𝟔, 𝟐𝒙𝟏 − 𝒙𝟐 + 𝒙𝟑 = 𝟑 is
(A) 𝒙𝟏 = 𝟐, 𝒙𝟐 = 𝟐, 𝒙𝟑 = 𝟏 (B) 𝒙𝟏 = 𝟎, 𝒙𝟐 = 𝟎, 𝒙𝟑 = 𝟑

(C) 𝒙𝟏 = 𝟑, 𝒙𝟐 = 𝟑, 𝒙𝟑 = 𝟎 (D) 𝒙𝟏 = 𝟎, 𝒙𝟐 = −𝟏, 𝒙𝟑 = 𝟑

245. If in Big-M method for Linear programming problem an artificial variable remains at
positive level in the optimal table, then solution is
(A) unbounded (B) Infeasible
(C) Unique optimal solution (D) None of these

246. The minimum of an Linear programming problem occurs only at two vertices X=(1, 0, 2)
and Y=(0, 1, 2). The minimum also occurs
(A) (2, 0, 3) (B) (0, 0, 3)
(C) (1, 1/2, 0) (D) (1/2, 1/2, 2)

247. In a simplex table of a Linear programming problem the relative cost (𝒁𝒋 − 𝑪𝒋) is zero for a
non-basic variable, then there exists an alternate solution, provided if it is
(A) Starting simplex table (B) Optimal simplex table
(C) Any simplex table (D) None of these

248. In a balanced Transportation Problem with two sources and three destinations and with
Availabilities 30 at each source and demand 20 at each destination, the dual variable in the
optimal   table corresponding to sources and destinations are respectively 1, 3 and 0, 2, 4.
Then the optimal value is:
(A) 200 (B) 230
(C) 240 (D) None
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249. In any simplex iteration if there is a tie for leaving variable, then next solution is
(A) Degenerate (B) Non-Degenerate
(C) Optimal (D) None of these

250. In a balanced transportation problem with 20 sources and 21 destinations, the number of
basic variables is
(A) 41 (B) 42
(C) 39 (D) 40

251. In a maximization problem, if we perform simplex iteration at any stage, then variable with
most negative relative cost enters the basis. Then ensures
(A) Maximum increase in objective function
(B) The next solution is a basic feasible solution
(C) Maximum decrease in objective function
(D) None of these

252. If 𝑪is a matrix of order 𝒏 × 𝟏 and𝑿is matrix of order 𝟏 × 𝒏 then which of the following
represents the objective function of a linear programming problem in its matrix form
(A) 𝑪 × 𝑿 (B) 𝑪𝑻 × 𝑿

(C) 𝑪𝑻 × 𝑿𝑻 (D) 𝑪 × 𝑿𝑻

253. There are six variables and four linearly independent constraints in the standard form of a
linear programming problem. Then, the number of basic feasible solutions will be
(A) 15 (B) 15

(C) 15 (D) None of these
254. Dual- Simplex method indicates that there does not exists any feasible solution of a linear

programming problem
(A) There exist an entering variable but there does not exists any leaving variable
(B) There exist an leaving variable but there does not exists any entering variable
(C) There exists tie between two or more entering variables
(D) There exists tie between two or more leaving variables

255. Which of the following is correct?
(A) Every optimal solution of a linear programming problem is a basic feasible solution
(B) Every optimal solution of a linear programming problem is a feasible solution
(C) Every optimal solution of a linear programming problem is a basic solution
(D) None of these

256. Which of the following is correct for the linear programming problem
𝑴𝒂𝒙(𝒙𝟏 + 𝒙𝟐) Subject to 𝒙𝟏 + 𝒙𝟐 = 𝟏, 𝒙𝟏 ≥ 𝟎, 𝒙𝟐 ≥ 𝟎

(A) No optimal solution exist for the considered linear programming problem
(B) Unique optimal solution exist for the considered linear programming problem
(C) Only two optimal solutions exist for the considered linear programming problem
(D) Infinite number of optimal solutions exist for the considered linear programming
problem

257. In an Linear programming problem if m is the number of vertices and n is the number of
basic feasible solutions  Then
(A) nm (B) nm

(C) nm (D) nm
258. In a simplex iteration, if the minimum ratio rule for leaving criteria is violated, then the

next solution may be
(A) Non basic and feasible (B) Basic and Infeasible
(C) Non-basic and Infeasible (D) None of these
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259. A minimization problem can be converted into a maximization problem by changing the
sign of coefficients in the
(A) Constraints (B) Objective Functions
(C) Both (A) and (B) (D) None of these

260. In simplex method, if there is tie between a decision variable and a slack (or surplus)
variable, then to improve the objective  value the entering variable should be
(A) Slack variable (B) Surplus variable
(C) Decision variable (D) None of these

261. The unbounded solution in an Linear programming problem  is
(A) where the objective function can be decreased indefinitely
(B) which maximizes the objective function
(C) where the objective function can be increased or decreased indefinitely
(D) where the objective function can be increased indefinitely

262. In standard form of Linear programming problem, if the objective function is of
minimization then the right hand side of the constraints should be
(A) Positive (B) Negative
(C) Non-negative (D) Zero

263. In Graphical solution of Linear Programming Problem (LPP), the feasible solution is any
solution to a LPP which satisfies
(A) only objective function (B) non-negativity restriction
(C) only constraint (D) All of these

264. In a Linear programming problem (minimization), if we perform simplex iteration at any
stage, then variable with most positive  relative cost ( j jz c )enters the basis and minimum
ratio rule is properly followed , This ensures
(A) Increase in objective function
(B) May increase or decrees in objective function
(C) Decrease in objective function
(D) None of these

265. If in Big-M method for Linear programming problem an artificial variable remains at
positive level in the optimal table, then
(A) Solution is unbounded (B) Infeasible
(C) Unique optimal solution (D) None of these

266. In any simplex iteration for Linear programming problem if there is a tie between leaving
variable, then next basic feasible solution is
(A) Degenerate (B) Non-Degenerate
(C) Optimal (D) None of these

267. If in phase-1 of two phase method for Linear programming problem an artificial variable
remains at positive level in the optimal table of phase-1, then the solution is
(A) Unbounded (B) Infeasible
(C) Unique optimal solution (D) None of these

268. Service time in queueing theory is usually assumed to follow:
(A) Normal Distribution (B) Poisson Distribution
(C) Erlang Distribution (D) Exponential Distribution
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269. In a M/M/1 queuing system with usual notations, expected waiting time of a unit that
actually waits is given by:
(A)

)(2

(B)
)(

(C)
)(

(D)
)(

1

270. When do the conditional density functions get converted into the marginally density
functions?
(A) Only if random variables exhibit statistical dependency
(B) Only if random variables exhibit statistical independency
(C) Only if random variables exhibit deviation from its mean value
(D) If random variables do not exhibit deviation from its mean value

271. Out of 20 employees in a company, five are graduates. Three employees are selected at
random. The probability of all the three being graduates is:
(A) 1/64 (B) 1/114
(C) 1.5 (D) 2/21

272. Which one is a probability mass function?

(A) P(x)=

elsewhere

xfor

xfor

xfor

0

4/31

4/11

2/12

(B) P(x)=

elsewhere

xfor

xfor

xfor

0

38/3

28/2

18/1

(C) P(x)=

elsewhere

xfor

xfor

xfor

xfor

0

12.0

02.0

15.0

51.0

(D) P(x)=

elsewhere

xfor

xfor

xfor

xfor

0

202.0

152.0

106.0

52.0

273. The conditional distribution of a discrete variable Y given X= x can be expressed as

(A) F(y/x)=P(Y≤y/X=x) (B) F(y/x)=
x)=P(X

x) X /yP(Y

(C) F(y/x)=
x)=P(X

x) X /yP(Y (D) None of the above

274. Power of a test is related to:
(A) Type-I error (B) Type-II error
(C) Type-I and Type-II errors both (D) None of the above

275. The range of Kendall’s rank correlation coefficient is:
(A) -∞ to 0 (B) 0 to ∞
(C) -∞ to ∞ (D) -1 to 1

276. Local control is a device to maintain:
(A) Homogeneity among blocks (B) Homogeneity within blocks
(C) Both (A) and (B) (D) Neither (A) nor (B)

277. An urn B1 contains 2 white and 3 black chips and another urn B2 contains 3 white and 4
black chips. One urn is selected at random and a chip is drawn from it. If the chip drawn is
found black, find the probability that the urn chosen was B1.
(A) 4⁄7 (B) 3⁄7
(C) 20⁄41 (D) 21⁄41
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278. Samples of size 25 are selected from a population with mean 40 and standard deviation 7.5.
The standard error of the sampling distribution of sample means is
(A) 0.3 (B) 1.5
(C) 7.5 (D) 8

279. Three companies A, B and C supply 25%, 35% and 40% of the notebooks to a school. Past
experience shows that 5%, 4% and 2% of the notebooks produced by these companies are
defective. If a notebook was found to be defective, what is the probability that the notebook
was supplied by A?
(A) 44⁄69 (B) 25⁄69
(C) 13⁄24 (D) 11⁄24

280. The Central Limit Theorem says that the standard deviation of the sampling distribution of
the sample means is
(A) equal to the population standard deviation divided by the square root of the sample
size.
(B) close to the population standard deviation if the sample size is large.
(C) exactly equal to the standard deviation.
(D) All of these

281. System reliability for components kept in series _______ as the number of components
increases.
(A) Increases (B) Decreases
(C) Remains unchanged (D) Cannot be determined

282. In parallel configuration of five components, the entire system will fail if _____
(A) any two components fail (B) any three components fail
(C) all the components fail (D) any one components fail

283. If B ,A the probability P(A/B) is equal to:
(A) P(A)/P(B) (B) P(B)/P(A)
(C) Zero (D) One

284. There is 80% chance that a problem will be solved by a statistics student and 60% chance is
there that the same problem was solved by the mathematics student. The probability that at
least the problem will be solved is:
(A) 0.48 (B) 0.92
(C) 0.1 (D) 0.75

285. Least square estimators of the parameters of a linear model are:
(A) Unbiased (B) BLUE
(C) UMVU (D) All the above

286. If an investigator selects districts from a state, panchayat samities from districts and
farmers from panchayat samities, then such a sampling procedure is known as:
(A) Two stage sampling (B) Systematic sampling
(C) Three stage sampling (D) cluster sampling

287. A split plot design can involve only:
(A) Two factors (B) Three factors
(C) Both (A) and (B) (D) Neither (A) nor (B)

288. The degrees of freedom for F-ratio in a 6 x 6 Latin square. design is
(A) (6, 20) (B) (6, 15)
(C) (5, 20) (D) (5, 15)
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289. The Neyman-Pearson lemma provides the best critical region for testing ___ null hypothesis
against ___ alternative hypothesis.
(A) composite, simple (B) composite, composite
(C) simple, composite (D) simple, simple

290. The treatments are applied at random to relatively homogeneous units within each strata or
block. Then the design is a
(A) Youden Square Design (B) Latin Square Design
(C) Randomised Block Design (D) Completely Randomised Design

291. The mean and Variance of geometric distribution are
(A) p/q and p/q (B) q/p and q/p
(C) q/p and q/p2 (D) p/q and p2/q

292. Large values of the log-likelihood statistic indicate:
(A) That there are a greater number of explained vs. unexplained observations.
(B) That the statistical model fits the data well.
(C) That as the predictor variable increases, the likelihood of the outcome occurring
decreases.
(D) That the statistical model is a poor fit of the data.

293. Which of the following statements is TRUE concerning the standard regression model?
(A) y has a probability distribution
(B) x has a probability distribution
(C) The disturbance term is assumed to be correlated with x
(D) For an adequate model, the residual (u-hat) will be zero for all sample data points

294. For a split plot design with factor A in main plots at 4 level, factor B in sub-plots at 3 levels
and having 3 replications, sub plot error degrees of freedom will be:
(A) 24 (B) 27
(C) 16 (D) 36

295. Which of the following conditions are necessary for a series to be classifiable as a weakly
stationary process?
(i) It must have a constant mean
(ii) It must have a constant variance
(iii) It must have constant autocovariances for given lags
(iv) It must have a constant probability distribution
(A) (ii) and (iv) only (B) (i) and (iii) only
(C) (i), (ii), and (iii) only (D) (i), (ii), (iii), and (iv)

296. Probability of drawing varies at each subsequent draw in:
(A) Simple Random Sampling With Replacement
(B) Simple Random Sampling Without Replacement
(C) Both (A) and (B)
(D) Neither (A) nor (B)

297. A Balanced Incomplete Block Design is said to be symmetrical if Number of blocks =
(A) Number of factors. (B) Number of treatments.
(C) Number of levels (D) Number of degree of freedom
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298. What is homogeneity of regression slopes?
(A) An exploration of the within-group equality of variance
(B) An assumption that the correlation between the covariate and dependent variable (DV)

does not differ significantly across the independent variable (IV) groups.
(C) Whether the variances vary significantly between the groups
(D) Whether the correlation between the DVs is significantly different between the groups

299. In a double sampling plan, a decision about the acceptance or rejection of a lot:A curve
showing the probability of accepting a lot of quality p is known as:
(A) Will never reach (B) Will always reach
(C) Will sometimes reach (D) None of the above

300. A mobile conversation follows an exponential distribution f (x) = (1/3)e-x/3. What is the
probability that the conversation takes more than 5 minutes?
(A) e-5/3 (B) e-15

(C) 5e-15 (D) e-5/3
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